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Portrait of Orlando Magic Mark Price shooting free throw.
Multiple exposure FL 3/17/1998 CREDIT: Hemnz Klustmeier
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A quadratic function can be written in the form
filx) = ax® + br + ¢,

where a, b, and ¢ are constants with ¢ # 0.
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VERTEX FORMULA

The x-coordinate of the vertex of the graph of y = ax’ + b + c,a # 0, 15 given by
b

rm =

”
To find the y-coordinate of the vertex, substitute this x-value in the equation,
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The graph ol ¥ = ax” 15 a parabola with the following characteristics. ,.Y () = _ﬂLxg\ s
1. The vertex is (0, (), and the axis of symmetry is given by x = (). C_O\,L(QJ. the
2, Ttopensupward if @ = 0 and opens downward if @ < (), B O_P
3. 1t is wider than the graph of y = ' if0 < |a| < 1. 1t is narrower than the
graphof y = 2%, if |a| = 1. -SFOC) = ax
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@ A baseball 15 bt into the air and 1ts height A in feet afler ¢ seconds can be caleulated by

hif) = = 166" + 96¢ + 3. * |
() What is the height of the baseball when it is hit? { sh 1
(b) Determing the maximum height of the baseball 7SS
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